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B.Sc. (Part I) Examination

BIOTECHNOLOGY
(Developmental Biology and Biostatistics)
Paper : BT-03

Time : 3 Hours | [ Maximum Marks : 35

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.

BT-03/7 (1) TR—227 TurnOver

gugs—H

(afa &g ST )

fcer - It 9ol & SW MU M9 T IW F GTAER

1.

@)

(i)

(iii)

(iv)

v)

TH IR, TH A A SAfeskhad 30 vl § it
FHITST | Tk G99 1 3FF T B

What is Gerontology ?
SRV T § 7

Differentiate between Spermatogenesis and

Spermiogenesis.
IS 9 TRHESHEE # faden wifsw)

What do you understand by the term

Manchette ?

ARIE ¥ 9 1 THed § 2

Define Parthenogenesis. Also give examples.
SRS B! qRWIfeR wifSe | sereeor +ff i
How will you define Convergence ?

g srfERer &1 feg yeer gfitafom =i ?
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(vi) Name the fwo types of Exogenous Induction. 3. Describe the importance of Stem Cells.

A YRR & Sfesd Yo & 99 fafen ) e FTES # s e
(vil) Hox genes are regulated by .................. : . .
4. How plant development is different from animal
BIFT ST cvveevveennanns g/ frafa 2 ¥
development ?
Section-B 4x3'%=14

Y aiadq s ufads & fFg yeR = ¥ 2
(Short Answer Type Questions)

5. Calculate the median of the following frequency
Note -— Answer any four questions. Each answer should not

exceed 200 words. FEach question carries distribution :
3% marks. Age (in Years) Frequency
Tug—d 14 4
(g AT u9) 15 7
e ;- fosl a® vl & SW ST e e S 6 5
sifesrad 200 &Gl § UREHT ST T&® I
3% 3% & T 17 2
2. Give the main aspects of Bayer’s Law. 18 1
R & fagra & qe uee] S| 19 3
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6. What are the limitations of measures of Central

Tendency ?

F<a ygfa & AE & HEd = 2

. Illustrate a method for -calculation of mean

deviation for grouped data with the help of an

example.

T ST 1 Fedl d Fifihd siihel & fag Are

fo=re @ T R aeRT Sansy |
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8. What is  Probability? Explain Random

Experiment.
Wiashal =1 § ? Agiessh T % HHSET |
9. Throw light on Sampling.
yfaesl W g Sife |
Section—-C 2x7=14
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 7 marks.
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10. How fertilization is important ? Explain.
frem fFe YR He@Yl § 7 SHems |
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11. Normal cell division is different from Cleavage.

Justify.

T iR fave fagem @ fa= &1 fag wifsa
12. Explain development of eye.

o & foeE w1 gHEEy|
13. Write notes on the following :

(@) In-vitro fertilization

(b) Importance of Embryonic Biotechnology

frafafea = femfrt fafex .
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